Algebra 1 Challenge Problem #8
A rectangle has a perimeter of 18 inches.  A new rectangle is formed by doubling the width and tripling the length.  The new rectangle has a perimeter of 46 inches.

a) Write and solve a system of linear equations to find the length and width of the original rectangle.

b) Find the length and width of the new rectangle.
Algebra 1 Challenge Problem #8

A rectangle has a perimeter of 18 inches.  A new rectangle is formed by doubling the width and tripling the length.  The new rectangle has a perimeter of 46 inches.

a) Write and solve a system of linear equations to find the length and width of the original rectangle.

b) Find the length and width of the new rectangle.

